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SAMPLE QUESTION PAPER
Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	Which of the following is not true for TDMA?

	Option A:
	Single carrier frequency for single user

	Option B:
	Discontinuous data transmission

	Option C:
	No requirement of duplexers

	Option D: 
	High transmission rates

	
	

	Q2.
	In FDMA system ,Due to _________ transmission scheme __________ bits are needed for overhead 

	Option A:
	Continuous, few

	Option B:
	Discontinuous, few

	Option C:
	Continuous, many

	Option D:
	Discontinuous, many

	
	

	Q3.
	PN sequence converts _______ signal to ______ signal.

	Option A:
	Narrowband, wideband

	Option B:
	Wideband, narrowband

	Option C:
	Unmodulated, modulated

	Option D:
	Low frequency, high frequency

	
	

	Q4.
	____________ arises from the fact that the spreading sequences of different users are not orthogonal.

	Option A:
	Near-far problem

	Option B:
	Line of sight

	Option C:
	Windowing

	Option D:
	Self jamming

	
	

	Q5.
	Which is is not the part of GSM architecture or structure

	Option A:
	Mobile station

	Option B:
	Base station subsystem

	Option C:
	Network and switching subsystem

	Option D: 
	Core network

	
	

	Q6.
	___________ manages the switching function in GSM.

	Option A:
	Mobile station

	Option B:
	Base station subsystem

	Option C:
	Network and switching subsystem

	Option D: 
	Operation Support Subsystem.

	
	

	Q7. 
	__________ supports the operation and maintenance of GSM.

	Option A:
	Mobile station

	Option B:
	Base station subsystem

	Option C:
	Network and switching subsystem

	Option D: 
	Operation Support Subsystem.

	
	

	Q8. 
	Which of the following is the name of original speech coder used in the pan European digital cellular standard GSM?

	Option A:
	Multipulse excited codec

	Option B:
	Residual excited codec

	Option C:
	Regular pulse excited long term prediction

	Option D: 
	Code excited codec

	
	

	Q9.
	Most of the CDMA2000 (IS-2000) channels and functionalities are similar to ___.

	Option A:
	IS-95

	Option B:
	EVDO-95

	Option C:
	UMTS

	Option D: 
	WCDMA

	
	

	Q10. 
	Choose odd one for  CDMA Forward Channels below.

	Option A:
	F-CPCCH (Forward Common Power Control Channel)

	Option B:
	F-CCCH (Forward Common Control Channel)

	Option C:
	F-DCCH (Forward Dedicated Control Channel)

	Option D: 
	F-CCH (Forward common channel)

	
	

	Q11. 
	Which is not a  CDMA Reverse Channels below. R is for Reverse.

	Option A:
	R-PICH (Reverse Pilot Channel)

	Option B:
	R-ACH (Reverse Access Channel)

	Option C:
	R-CCCH (Reverse Common Control Channel)

	Option D: 
	R-CCH (Reverse common channel)

	
	

	Q12. 
	A CDMA2000 is a ____ generation network.

	Option A:
	First Generation

	Option B:
	Second Generation

	Option C:
	Third Generation

	Option D:
	Fourth Generation

	
	

	Q13.
	The process of transferring a mobile station from one base station to another is

	Option A:
	MSC

	Option B:
	Roamer

	Option C:
	Hand off

	Option D: 
	Forward channel

	
	

	Q14. 
	Commonly used mode for 3G networks is

	Option A:
	TDMA

	Option B:
	FDMA

	Option C:
	TDD

	Option D: 
	FDD

	
	

	Q15.
	Radio capacity may be increased in cellular concept by

	Option A:
	Increase in radio spectrum

	Option B:
	Increasing the number of base stations & reusing the channels

	Option C:
	Decrease in radio frequency.

	Option D: 
	Increasing antenna capacity

	
	

	Q16. 
	Which is not done in Inter system Handoffs 

	Option A:
	a.When mobile station moves in two cellular systems with different MSC

	Option B:
	b. When mobile station moves between two cellular systems

	Option C:
	c. When mobile station receives more power from other base station than the serving base station

	Option D: 
	When mobile station moves between two power stations received signal. 

	
	

	Q17.
	3GPP2 is based on _________network? 

	Option A:
	Super Mobile Broadband (SMB)

	Option B:
	Advanced Mobile Broadband (AMB)

	Option C:
	Ultra Mobile Broadband (UMB)

	Option D:
	Enhanced Mode  Broadband (EMB)

	
	

	Q18.
	UWB typed 4G networks are superseded by ___ networks.

	Option A:
	EV-DV networks

	Option B:
	LTE

	Option C:
	WCDMA

	Option D: 
	3 GPP

	
	

	Q19. 
	Which is not the advantages of a 4G LTE network over 3G network?

	Option A:
	More Spectral Efficiency

	Option B:
	Low power consumption

	Option C:
	Scalability and Flexibility with other networks

	Option D: 
	less spectral efficiency

	
	

	Q20.
	What is the round trip latency between a Mobile phone and Base station in a 4G LTE network?

	Option A:
	1ms

	Option B:
	5ms

	Option C:
	10ms

	Option D:
	20ms

	
	

	Q21.
	Hard partition is ?

	Option A:
	Partition as part of the building

	Option B:
	Partition that can be moved

	Option C:
	Partition not touching ceiling

	Option D: 
	Partition between different floors

	
	

	Q22. 
	In  Small scale fading, it  describes the _________ fluctuations of the amplitude, phases of a signal.

	Option A:
	Rapid

	Option B:
	Slow

	Option C:
	Instantaneous

	Option D: 
	Different

	
	

	Q23.
	In small scale fading ,which of the following factor does not influence?

	Option A:
	Multipath propagation

	Option B:
	Power density of base station

	Option C:
	Speed of mobile

	Option D: 
	Speed of surrounding objects

	
	

	Q24. 
	Impulse response of a multipath channel is determined by the fact that

	Option A:
	Mobile radio channel may be modeled as linear filter

	Option B:
	Impulse response is time varying

	Option C:
	Both a) and b)

	Option D: 
	Impulse response is constant 

	
	

	Q25.
	Ricean distribution degenerates to ________ distribution when the dominant component fades away.

	Option A:
	Log normal

	Option B:
	Gamma

	Option C:
	Rayleigh

	Option D: 
	[bookmark: _gjdgxs]Gaussian
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